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Which is not the case by 112 — 122 30 PRW 7N

OVERVIEW

The Xn>72 mentions that the 71217 of MW over M2 (and over WX) is that MY pays
1912; however WX 712 do not pay 7912. If a person died by falling into a 712 or if he
was Kkilled by a (spreading) fire, the WX 7121 5¥2 do not pay 7912 to his heirs.
mooIn will discuss the source of this ruling.

mdoIn concludes the thought of the Xn>72 that MW pays 7913; however M2 -
- YN )9 PRV N1 71902 NPT YN 19) 1919 DHUN PRY

Does not pay =215, and similarly concerning wX which the Xn»93 shortly
teaches ‘that it is not so by WR’, it also means that wX does not pay 791.

nooIn asks:
- 199193 139513 MIUN 99239 ININRN ON)

And if you will say; let us derive wX1 712 from ="w; and wX) 712 should be liable
to pay 7913; just as MW pays 1913 —

Mmoo anticipates a possible rebuttal to his question:
= 9N DY 19V 913910 NIINT 2) HY 9N)

And even though it is possible to argue that a MW is alive and therefore we cannot
derive 721 WX which are not alive, from "W —

mooIn rejects this rebuttal:
- 759393 9979 NOINT (x93 9 1853 9992 1PY 19700 NNT

For the X723 concludes later in 739 P95 that there is 2212 by »an.
- 19712 939 1999951 NN YNY
We conclude from this ruling that we do derive %31 from 37p; that just as 79p pays

7913 s0 too does a1 -
- ©2390 MWD 2N P5TAY 1NN 1Y J97Y N1 139999 N9

And we do not challenge this derivation by arguing; why is 9915 2317 197 since

by 1P it is o172 312 and 17p is also 7''71M2 2997, however 237 is not P72 1N and it is
9"772 Wy, therefore we cannot derive 931 from 717p. The X3 could have argued this way;
however it chose not to.’ Similarly here we should be able to derive wX1 712 from 179 and

' The commentaries ask how can m2oIn argue that 112 should pay 7913, when there is a P105 that teaches us X9 1w
a7x, that the 71277 92 is w9 if an o7X was killed in his 712. See (7187) R"wnn and 7"»R. See ‘“Thinking it over’ # 1.
2If a cow tramples a person (child) while walking (in the P17 nWw1), the W Y31 is 9910 27,

? See Mmoo there W 71"7 who is indeed puzzled by this 71°2. Perhaps the reason we do not ask these N7 is since
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disregard the m 7 of 1P, just as they were disregarded concerning the Xm5> of 737 from 1p.
The question remains, why indeed w1 712 are exempt from 791!

MooIN answers:
- WND 5Y KDY 1YY N2 Yy X9 “pby 1PYATT PPNV 912 YNT 9120 YN

And one can say that 7121 WX are >17WD from 9915 for we interpret the word 1"y
which is written by 1913 to mean "%¥ — on him (the MW7 %v2); only he has to pay

1913, but not the 71277 Y¥2 and similarly 195 and not for the wx:7 ®¥2; only the Yva
Wi pays 1913, but no other P17 is liable to pay 1912.

mooIn proves that this is a valid T°%:
= DINN DY XD 1YY (ov) 1899 9902 197 1PWH1T1S

As the X723 interprets later, in the end of 7% P19, that the word 1°9p, excludes a

person who killed, from paying 9915. This word 1%y excludes everyone from paying 1913,
except for the p>m of M (including 937).

mooIn has an additional question:
= 195910 19 PIDIN Y NN 9123 295757 DX XYY MY IINN ON)

And if you will say; why do we need the word 92 which is written by 912, from
which we derive by exclusion 278 X93; that the ™27 %va is not liable for (1912)
payment if a person was killed by the 112; we can derive that the 21277 5v2 is Mo if
a person was killed in his 112 from the word ¥ which is written by 1913.”

N1v0IN answers:
= 191N YOIV T2y MVAY DN XD 9IY TPIVNINT 991D UM

And one can say; that the 7w17 of 278 X9 "2 is necessary to exempt the 5va

7127 from payment if an *1v13 72 fell into the 2 -
:SHNYY 9390 B399 1Y IN

937 is an 2K, and all we want to derive from 177 is (merely) a detail (that 937 is 9912 217 just as 77 is 1915 2>1); this
%% is considered merely a Xn2°m "9 and it can be derived despite some discrepancies. It is only when we wish to
derive a new type of p1n that these m27°d are effective. See *"19 and 77"1X.

* The p10d reads (2,22 [2*wOWN] NMAW) 172¥ NWY 791 OX'.

> We do not say ¥ (on the 79771 5¥2) and not on the 93171 ¥2; for both are parts of the (same) M.

® The 7110 writes by 712 (in 37,8 [owown] Nnw) that if a person made a pit and "3 an W MW AW o1, We derive
from the word "W (which is seemingly superfluous) that 278 X7 .

7 The payment that is due for killing a person is called 1912. Once we derive from 19y that 1913 is only by a 337w MW
a78, we know that there is no payment by a o7& v 2. The word 2w (by 712) which teaches us 07X X921 W is
(seemingly) superfluous.

¥ This may be referring to a “&w* who bought a "1 as a slave but did not go through the process of having him
become a formal *1v15> 72y, which includes 121 727201 790,
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Or if a gentile who belongs to a ®X=w» fell into the Ma. In both these cases’ the M2 v
is M. We know this (only) from 278 X2 1w,

SUMMARY
We derive from '1°%¥' that only 7 is 99122 217 and not wWXY 2. The X7 W P09
Q7R comes to exclude an PR "11p57 21011 72Y.

THINKING IT OVER

1. There is a dispute later in the '°x7»3 whether the 1912 payment is the ‘value’ of
the P or the ‘value’ of the proi. Our ndoIN asks two (seemingly conflicting)
questions: Why is a M2 exempt from 7910; and why the P05 of DR X9 MW is
necessary. According to which of the two 7"n (whether 9912 is P11 17 or P12 "n7),
is which question of m»oIn (more) appropriate?’’

2. What we would be the 77 by wx if it killed an 72y or a PXw*> "pn *121?'2

’ In these two cases there is a 17 of monetary compensation. The owner lost the slaves who are his assets. This
payment cannot be considered 1913; but rather 1wn. It is only when a X7 was killed that the ‘payment’ is 9913 and
not 1mn. [There is a concept known as 111 127 2°n7 PX. There is no monetary value for a free man.] Therefore the
w1y of 1%y which is referring to 1913 does not exclude payment for the o>72v (which is a monetary payment; not a
1912 payment). However, from the 278 8?1 7w 2105 which is written by 112, we exclude an o7& who was killed, from
receiving monetary payments, and this refers to 072y as well. See ‘Thinking it over # 2.

0x.nAT.

' See w"x1 owa p"nww and "% 73 "7 BV MK DA

' See 757 mx >"™9a,
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